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Explanation Sudoku with symbols 
 

Totally there are nine different symbols, namely: 

 

      \ | / 

     -#-  

      / | \ 
 

Four diagonals, a vertical line upwards, a vertical line downwards, a horizontal line to the left, a 

horizontal line to the right and a little block. in the middle. All these nine symbols are printed in a 

different color. In each row, column and block these symbols are find three times, totaly 27 symbols. In 

fact the Sudoku consist of three combined Sudokus  

 

For example (solution, in a row): 

 
 

For example (solution, in a block): 

 
For example (solution, in a column): 
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The total Puzzle looks like: 

 

 
 

The positions with a grey background consist already three symbols, so are already solved. 

 

The solution looks like: 

 

 
 

 


